QEOMETRY: TRANSVERSAL PROOFS (CHAPTEKR 3.3)

ALTERNATE INTERIOR ANGLES THEOREN

Given: Line m is parallel to line 7n;
Line p is a transversal

Prove: /3= /6

ALTERNATE EXTERIOR ANQGLES THEOREN

Given: Line m is parallel to line n;

Line p is a transversal

Prove: /1 =/8

Statement

Reason

Line m || line n;

Line p is a transversal

Given

Statement

Reason

Line m || line n;
Line p is a transversal

Given

B35 (B () 22 Vertical O s are [

02006 Transversal. with || lines means
corresponding [J s are [

03006 Transitive/Substitution Prdperty

01005 Transve’rsal. with || lines means
corresponding [J s are [

ST HREES Vertical O s are [

o1008 Transitive/Substitution Property

SANEC-SIDE INTERIOR ANQGLES THEOREN

Given: Line m is parallel to line n;
Line p is a transversal

Prove: mZ3+m/5 =180°

Line p is a transversal

SANE-SIDE EXTERIOK ANGLES THEOREN

Given: Line m is parallel to line n;

Prove: mZ2+m/Z8 =180°

Statement

Reason

Line m || line n;
Line p is a transversal

Given

mO 3 +m0 1 =180°

Two U s forming a linear
pair are supplementary

01005 Transversal. with || lines means
corresponding [ s are [
i (EI81E=m [E]ES Two [ U s have = measures

m0 3 +m0 5 =180°

Substitution Property

Statement

Reason

Line m || line n;
Line p is a transversal

Given

m0 2 +m0 4 = 180°

Two U s forming a linear
pair are supplementary

04008

Transversal with || lines means
corresponding [J s are [

ml 4=m[l 8

Two 0 O s have = measures

(from steps 2 and 4)

m0 2 + m0J 8 = 180°

Substitution Property
(from steps 2 and 4)
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QEOMETRY: CONVERSES OF TRANSVERSAL PROOFS (CHAPTER 3.4)

CONVERJE OF ALTERNATE |

NTERIOR ANGLES THCORENM

CONVERJSE OF ALTERNATE EXTERIOR ANQGLES THEOREM

Given: Z3= /6

Prove: Line m is parallel to line n

Given: £l = /8
Prove: Line m is parallel to line n

Statement Reason
g300e6 Given
B <8 E Vertical U s are [J
Substitution Property
2 [ [E6
(from steps 1 and 2)
: : Transversal with [
Line m || line n : i
corresponding [J s means | lines

Statement Reason
ElETELEES Given
gi1oC4 Vertical [ s are [J
Substitution Property
04008
(from steps 1 and 2)
: : Transversal with [
Line m || line n : :
corresponding[] s means || lines

CONVERJSE OF SAME-SIDE INTERIOR ANGLES THEOREM CONVERJSE OF SAME-SIDE EXTERIOR ANGLES THEOREM

Given: £3 and 45 are supplementary
Prove: Line m is parallel to line n

Given: Z2 and Z8 are supplementary
Prove: Line m is parallel to line n

Statement

Reason

0 3 and [J 5 are supplementary

Given

mU 3 +m0 5 =180°

Definition of
Supplementary Angles

Statement

Reason

mO 3 +m0O 1=180°

Two O s forming a linear
pair are supplementary

m3+mO5=m0O3+m01

Substitution Property
(from steps 2 and 3)

mS5=m01

Subtraction Property

[ STELEl 1

Two [ s with = measures are [

Line m || line n

Transversal with [

0 2 and 0J 8 are supplementary

Given

mQ 2 + mO 8 = 180°

Definition of
Supplementary Angles

mU 2 +m[] 4=180°

Two [ s forming a linear
pair are supplementary

md2+m0d8=m0O2+m04

Substitution Property
(from steps 2 and 3)

m8=ml4

Subtraction Property

gs8onb4

Two O s with = measures are [

Line m || line n

corresponding [ s means || lines

Transversal with [
corresponding [J s means | lines
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